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SLA-229

B.A. Part-1II Due of B.A. Part-1I (Supplementary)

Examination, 2022

ECONOMICS
Paper - II (A)

(Indian Economy)

Time : 1% Hours | [ Maximum Marks : 100
Section-A (Marks : 2 x 10 = 20)
Note .— Answer all ten questions (Answer limit 50 words). Each question carries

e —

Note —

M —

Note —

M -

2 marks.

(@us—3) (3® : 2 x 10 = 20)
Tfi T YAl % I T (ST 50 ) | FAF YIA 2 3F HT T
Section-B (Marks : 7 x 5 = 35)

Answer all five questions. Each question has internal choice (Answer limit
200 words). Each question carries 7 marks.

(Tus-a) (3f® : 7 x 5 = 35)
i UTe gl & St SNT) Yo Wed H fawed @ wEe Sifeg (STR-EE
200 I15) | TAF YIHA 7 b HI B

Section—C (Marks : 15 x 3 = 45)

Answer any three questions out of five (Answer limit 500 words). Each
question carries 15 marks.

(Tus-|) (3% : 15 x 3 = 45)

o= | fr=l @9 gvH % SWw ST (SW-HH 500 Is2) | YAE 9T 15 376
Ealk
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Section-A
(Tus-3)

1. Attempt all zen questions. Answer should not exceed 50 words in each question.
gt TW T % IW 0| TAE T A IW 50 Vi § Ay A8 S A
(1) What is GATT Accord ?

e FEga T 2
(i)  What is Stabilisation Programme ?
FeeRietor i W feoo fafem )
(iii) What is FDI ?
woae et fem = ® 2
(iv) What is Agricultural Marketing ?
it foraom =1 § ?
(v)  Is India Overpopulated ?
T IRd H S T ?
(vi) Discuss the principle Imports and Exports of India.

RA 1 THE | 9 faia &t 7R adsu |

(vii) Discuss the three causes of Backwardness of Indian Agriculture.
IR FHY & s & &g i SR SaEy |
(viii) What is Farm Forestry and Social Forestry ?

T iR qen | SRt I g ?

(ix) What is Green Revolution in India ?

aRa § gRa wifa Fn ¥ 2
(x)  Discuss sources of Institutional Agricultural Credit.

FHT & TEAN TG & B adqzu |
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Section-B
(TUz-9)

Note .— Answer all five questions. Each question has internal choice (Answer limit
200 words).

Tt gier g9l ® ST SIST1 Yeh U9 | faehed 1 =R hifeT (ST
200 v1s3) |

2. Discuss factor affecting of density of Population in India.
YRG | SHEEA Sl JAifad i 9l RS adiEd |
Or
(3=

Write a note on the distribution of population according to Rural and Urban
Areas.

SIS H A T IR &5 & AR fame w feueht fafen |
3.  What is Economic Holding ?
s S A o9 = gHEa € 2
Or
(3tram)
What is FERA and FEMA ?
WY T R R ?
4.  What is British Policy of Discrimination Protection ?
SIS 1 fadeTs wReor Hifa = T 2
Or
(3=
Give the reasons for the problems and backwardness of Indian Forests.
YRS oA h! TN o o899 & SR odEg|

5.  Write a short note on Burden of Land Taxes at the time of British Period.
fafest w1 § -+0 & IR W feonft fafew)
Or
(3tram)
Explain shortly on the Relevance of Swadeshi.

weElt W Higw faero S|
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6. What are the main provisions of Industrial Policy of 1991 in India ?

IRa § 1991 =1 i=nfres =ifq & vg@ g&um F=1 € 2

Or
(g

Discuss the importance of Natural Resources in the Economic Development of
India.
IR & oY fashre & U Wik TEeEl Ft Hew i AT hife |

Section—-C

(Tue-9)

Note .— Answer any three questions out of five (Answer limit 500 words).

g ° 9 fe=l @ g9 & W Sifee (SW-E 500 v9) |

7. Discuss the Pre-British Period Structure and Organisation of Villages, Towns,
Industries and Handicrafts of Indian Economy.

fofest e & qd R stefozraen & Ui, FHEE, I T SR A B W= T

TS i SRS HiTSIT |

8.  Discuss the changes in the composition and direction of Indian Foreign Trade.
AR H 9RA & foRelt SR w5 1@ fown | gu uRed|l ®f s st
9. Discuss the main causes of backwardness of Indian Agriculture and evaluate the

new strategy of agricultural development. Explain the New Policy of Industrial
Development.

IR $iY & TSS9 & &RUI i faa=m &t o b fowm o1 T6H1 g-T=m
T TR HITT |

10. Critically discuss about the impact of Privatization, Globalization, Liberalization
of Indian Economy.

YRA § fASlientor, ST 3R SYaiehiol & Yl W SAe=Hds fewon wife |

11. “Unemployment, Inequality and Poverty are positively related to each other.” By

explaning this quotation, discuss the present situation of them in India.

“SRISTTRY, STEAMT @ TS TH-TR & 1Y oS ®9 § Fafed wd g1 39 HeF
I T I FL YR H 3w fafa W fowm | ==t wifew)
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